031-Eddie Bauer LLC 2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES									PURCHASE ORDER as of Fri Jul 05 06:31:31 UTC 2024 Contract ID Contract Ref									
									08446	Contract	Rei							
Department: 03	31 Region:	10						er Nur 80045		Issue Da 2024-07			Versie 2024	703				
	E XPORTS I RIAL PLOT BAD, 12100 22	' NO 1	TD		N 220 S Sea	- -Eddie Bau 0 1st Ave S attle, WA, 98 ITED STATE	5, Suite 400 3134		C B Maersk Customs Services U R 1111 Bayhill Drive, Suite 310 S San Bruno, CA, 94066 O K UNITED STATES M E Contact: Patricia Nacion S R									
N Room 24	ainer Port, I ng, Kowloo	FI., To Kwai C	wer 1, Ever Ga	ain Plaza		- Eddie Bau 0 1st Ave S attle, WA, 98 ITED STATI	N NO.3 ∪ BAN F INDI	U BANGALORE, 560076 F INDIA A Region: 22										
A A R																		
GXO Wa	West Driv	e, Buil , 4316	ding 1 32							ĸ								
Incoterm FOB - CHENN	NAI (EX MA		S). TAMIL NAD		Partial Shi	ipments Pe	Transshipm	Transshipments No										
Payment Terms	3		ents Presentatio		Shipping I	Mode	Business Code 0011											
Business Code	e Descriptio EB CAT		- USA		Last Revis	sion Date	Supplier C	Supplier Code 100000040										
Department WMNS	S PERFOR	MANC	CE SPORTSW	R	Order Type		factoryCod	factoryCode 100000263										
domesticvendo		False			Canadian	DC Closure	isUnified	true										
Domestic Vende		False			Accountin			Shipment Window 2025-01-11 / 2025-01-11										
Shipment Meth		Ocean			Country Of Origin					Freight Pay Method Collect -								
Line #		Buye	er Item #		Short Description				Quant	y Unit Price (USD)					Cost (USE			
0001		031-	2031		WR RAD	IATOR VES	ST:GRAY		274	9.35* 2,								
Item StatusOPENShip Window Start Date2025-01-11Color139					Shi	stination p Window En yer's Style #	d Date	20	XO Warehouse 025-01-11 1559404									
	Size Code	Size	UPC #		U #		Qty Per Inner I			Item Qty		Unit	Unit Cost	Cost				
	0030	XS-	197806596179	EB0312031	001390030	G		001	70.00	Item C Shipment Meth			9.35	112.20				
										Retail Pri	ce 70.00							
	0040	S-	197806997532	EB0312031	001390040	G		001	70.00	Item C	ty 40		9.35	374.00				
										Shipment Meth								
	0050	M- 197806831362 EB03120		EB0212024	001300050	G		001	70.00	Retail Pri Item C			9.35	617.10				
	0050	M-	191000031302	200312031	001390050	G		001	70.00	Shipment Meth			9.30	017.10				
										Retail Pri								
	0060	L-	197806871214	EB0312031	001390060	G		001	70.00	Item G	_		9.35	776.05				
										Shipment Meth								
			40700005=-	-	004000			001		Retail Pri				400				
	0070	XL-	197806931178	EB0312031	001390070	G		001	70.00	Item C Shipment Meth		-	9.35	486.20				
										Retail Pri								
				1							- I	1						
	0080	XXL-	197806045424	EB0312031	001390080	G		001	70.00	Item C	ty 21		9.35	196.35				
	0080	XXL-	197806045424	EB0312031	001390080	G		001	70.00	Item C Shipment Meth Retail Pri	od Ocean		9.35	196.35				

This document is a summary and does not contain all the terms and conditions applicable to the transaction. The complete document may be accessed on the system.

PURCHASE ORDER as of Fri Jul 05 06:31:31 UTC 2024

Contract ID Contract Ref 359600198446 Order Number Issue Date 0008004527 2024-07-01

20240702101703

Version

Line # Buyer Item #					Short Description					Quantity			Unit Price (USD)					
0002 031-2031					WR RAD	IATOR VES	T:MULBRRY		137			9	1,280.95					
Item Status			OPEN		De	stination		. (GXO Warehouse									
Ship Window Start Date 2025-01-11					Shi	p Window En	d Date	:	2025-01-11									
Color			417		Bu	/er's Style #		2	21559404									
Size Cod		Size	UPC #	SK	U #	Ticket Type	Qty Per Inner P	ack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost				
	0030	XS-	197806534164	EB0312031	004170030	G	(001	70.00	Item Qt	6		9.35	56.10				
										Shipment Methor	l Ocean							
	0040 S									Retail Price	70.00							
			197806688805	EB0312031	004170040	G	(001	70.00	Item Qt	/ 20		9.35	187.00				
										Shipment Methor	l Ocean	i —						
										Retail Price	70.00							
	0050	M-	197806845598	EB0312031	004170050	G	(001	70.00	Item Qt	/ 33		9.35	308.55				
										Shipment Method								
								Í		Retail Price	70.00	İ –						
	0060		197806076510	EB0312031	004170060	G	(001	70.00	Item Qt	42		9.35	392.70				
										Shipment Methor	l Ocean							
										Retail Price	70.00							
	0070	XL-	197806559648	EB0312031	004170070	G	(001	70.00	Item Qt	26		9.35	243.10				
										Shipment Methor	l Ocean							
										Retail Price	70.00							
0080		XXL-	197806263378	EB0312031	004170080	G	(001	70.00	Item Qt	/ 10		9.35	93.50				
										Shipment Method	l Ocean							
										Retail Price	70.00							
									Total		137			1,280.95				
0003		031-	-2031		WR RAD	IATOR VES	T:DSRTPNK		171			9	9.35*		1,598.85			
Item Status			OPEN		De	stination		(GXO Warehouse									
Ship Window St	art Date		2025-01-11		Shi	p Window En	d Date	:	2025-01-11									
Color			825		Bu	/er's Style #		:	21559404									
	Size Code	Size	UPC #	SK	U #	Ticket Type	Qty Per Inner P	ack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost				
	0030	XS-	197806033612	EB0312031	008250030	G	(001	70.00	Item Qt	/ 8		9.35	74.80				
										Shipment Metho	l Ocean							
										Retail Price	70.00							
	0040	S-	197806144639	EB0312031	008250040	G	(001	70.00	Item Qt	/ 25		9.35	233.75				
										Shipment Methor	l Ocean							
										Retail Price	70.00							
	0050	M-	197806032714	EB0312031	008250050	G	(001	70.00	Item Qt	/ 41		9.35	383.35				
										Shipment Methor	l Ocean							
										Retail Price	70.00							
	0060	L-	197806272257	EB0312031	008250060	G	(001	70.00	Item Qt	, 52		9.35	486.20				
										Shipment Methor	l Ocean							
										Retail Price	70.00							
	0070	XL-	197806246876	EB0312031	008250070	G	(001	70.00	Item Qt	/ 32		9.35	299.20				
										Shipment Methor	Ocean							
										Retail Price	70.00							
	0080	XXL-	197806286452	EB0312031	008250080	G	(001	70.00	Item Qt	/ 13		9.35	121.55				
										Shipment Metho								
										Retail Price	70.00							
									Total		171			1,598.85				
0004		031-	-6378		WW RAD	NATOR VES	ST:GRAY		46			1	0.29*		473.34			
Item Status			OPEN		De	stination		(GXO Warehouse									
			Ship Window End Date 2025-01-11															
Ship Window St	art Date		2025-01-11		Shi	p Window En	d Date	2	2025-01-11									

This document is a summary and does not contain all the terms and conditions applicable to the transaction. The complete document may be accessed on the system.

PURCHASE ORDER as of Fri Jul 05 06:31:31 UTC 2024

Contract ID Contract Ref 359600198446 Order Number Issue Date 0008004527 2024-07-01

te Version 01 20240702101703

Line #	E	Buyer	Item #		Short Description					Quantity Unit Price (USD)						Cost (USD)
Size Cod		Size	UPC #	Si	KU #	Ticket Type	Qty Per Inner Pack		PO Retail Price	e Item Qty			Unit	Unit Cost	Cost	
	5001 2X- 197806261466 EB031		EB0316378001395001		G	G		70.00	Item Qty		29		10.29	298.41		
									Shipment Me	ethod C	Dcean					
										Retail	Price	70.00				
	5002 3X- 197806385810 EB0310		EB031637	8001395002	G		001	70.00	Iten	n Qty	17		10.29	174.93		
										Shipment Me	ethod C	Dcean				
										Retail	Price	70.00				
									Total			46			473.34	
0005 0		031-6378			WW RADIATOR VEST:MULBRRY				23				10	.29*		236.67
Item Status	i	(OPEN		Desti	nation		G	XO Warehouse							
Ship Window Start	Date	2	2025-01-11		Ship	Window End	Date	20)25-01-11							
Color		4	417		Buye	r's Style #		21	559404							
	Size Code	Size	UPC #	Si	KU #	Ticket Type	Qty Per Inne	Pack	PO Retail Price	Item Qty	/		Unit	Unit Cost	Cost	
	5001	2X-	197806115097	EB031637	8004175001	G		001	70.00	Iten	n Qty	15		10.29	154.35	
										Shipment Me	ethod C	Dcean				
										Retail	Price	70.00				
	5002	3X-	197806853845	EB031637	8004175002	G		001	70.00	Iten	n Qty	8		10.29	82.32	
										Shipment Me	ethod C	Dcean				
										Retail	Price	70.00				
									Total			23			236.67	
0006	(031-6	378		WW RADI	ATOR VEST	:DSRTPNK		28				10	.29*		288.12
Item Status	1	(OPEN		Desti	nation		G	XO Warehouse							
Ship Window Start	Date	2	2025-01-11		Ship	Window End	Date	20)25-01-11							
Color		8	325		Buye	r's Style #		21	559404							
	Size Code	Size	UPC #	Si	KU #	Ticket Type	Qty Per Inne	Pack	PO Retail Price	Item Qty	/		Unit	Unit Cost	Cost	
	5001	2X- 197806876059		EB0316378008255001		G		001	70.00	Iten	n Qty	18		10.29	185.22	
										Shipment Me	ethod C	Dcean				
										Retail	Price	70.00				
	5002	3X-	197806083846	EB031637	8008255002	G		001	70.00	Iten	n Qty	10		10.29	102.90	
										Shipment Me	ethod C	Dcean				
										Retail	Price	70.00				
									Total			28			288.12	
6 Lines Ordered					Tota	I Line Qty	679	Total Item Qty	otal Item Qty 679			Merchandise Total				
															* Represent	s Subline Average
Totals																
												Ν	1erch	andise Ar	mount	6,439.83
													Т	otal Adjus		0.00
															Taxes	0.00
														Orde	r Total	6,439.83
Required Docum	ients															

Commercial Invoice

Transport Manifest - completed by Consolidator (LSP).

Goods Receipt

Document, Packing Slip, requires an Acknowledgement from the Seller. (Notes - Scan and attach)

Document, Certificate of Origin, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, FCR for Ocean Shipments, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, Airway Bill of Lading for Air Shipments, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, Importer General Conformity Assessment Certificate, requires an Acknowledgement from the Seller. (Notes - Scan and attach)

PURCHASE ORDER as of Fri Jul 05 06:31:31 UTC 2024

Additional Terms

Seller will be required to certify that it has obtained all applicable authorizations, approvals, licenses, quotas, visas, certificates of origin, and other documentation to permit the exportation of the merchandise from the country from which the merchandise will be shipped in compliance with all applicable laws and regulations of the country of exportation. Seller also certifies that it or its designated agent will obtain and provide all of the applicable authorizations, approvals, licenses, quotas, visas, certificates of origin, other documentation, and information required to permit importation of the merchandise into the destination country in compliance with all applicable laws and regulations in the importing country.

(Acknowledgement required on each invoice)

Seller

(Acknowledgement required on each invoice)

All Orders are subject to the terms of the executed vendor agreement, which may include certain discounts. All discounts agreed to will be referenced on the commercial invoice and reflect a certain percentage discount off of Product Price for Products tendered to Eddie Bauer LLC or the Eddie Bauer LLC licensees.

(Acknowledgement required on each invoice)

This document is a summary and does not contain all the terms and conditions applicable to the transaction. The complete document may be accessed on the system.